Proof that In(z) =Z by my definition and cosmology

April 2, 2022
Yuji Masuda
y_masuda0208@yahoo.co.jp

Abstract
In this report, the objective was to prove that the logarithm of a complex number is equal to its
conjugate complex number and, in addition, to provide new insights into outer space.

General comments
From “Reconstruction Proofs by Definition” of my No.67, | define all numbers as 5 numbers.

@Iog(—%): loge=1
@logl=0

®log0= Iog[i%j =logle*)=log(-e)= Iog(%) =-1 -2 -1 O = 2
®@log(-1)=iz=-2

Dlog(-2)= Iog(—%j =loge=1
20=20=2>0=>0=20=20=20=>0=--

In(0) = In(%) - In(%) —Ine?)=-1

In() =In(-e?) =In(-1) +2=ir+2=-2+2=0
In(2)=In(-e)=In(-)+1=iz+1=-2+1=-1
In(3) =In(-2) =In(e) =1

In(4)=In(-) =iz=-2

In(5) =In(0) =-1

In(6) =In(1) =0

In(7)=In(2)=-1

In(8) =In(3) =1

In(9) =In(4) =-2
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Proof end

proof that In(z) =z
142 0 314 -2 1 -1 2 0 -2 1 -1 123 401 2 3 1 2 -2 -1 0 1 2 =2
2 031420 -1 2 0 -2 1 -1 2 O 34012340 -2 -1 0 1 2 -2 -1 O
3142031 o -2 1 -1 2 0 -2 1 0123 4012 o 1 2 -2 -1 0 1 2
4 2 0 3 1 4 2 C_1—120—21—12 B_23401234 D7272710127271
0 31420 3 12 0 -2 1 -1 2 0 -2 140123401 .10 1 2 -2 -1 0 1
142 0 31 4 -2 1 -1 2 0 -2 1 -1 123 4012 3 1 2 -2 -1 0 1 2 =2
2 031420 -1 2 0 -2 1 -1 2 O 34012340 -2 -1 0 1 2 -2 -1 O
3142031 o -2 1 -1 2 0 -2 1 012 3 4012 o 1 2 -2 -1 0 1 2
1 4 2 0 3 1 4 2 1 -1 2 0 -2 1 -1 2
012 3 4012 0 2 -2 -1 0 1 2
4 3 21 0 4 3 2 -1 -2 2 1 0 -1 -2 2
302 41 30 2 -2 2 -1 1 -2 0 2
AB=BA=BC=CB=DA=AD= =
2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
1 4 2 0 3 1 4 2 1 -1 2 0 -2 1 -1 2
012 3 4012 0 2 -2 -1 0 1 2
4 3 21 0 4 3 2 -1 -2 2 1 0 -1 -2 2
1 -1 2 0 -2 1 -1 2
0 1 2 -2 -1 O 1 2
-1 -2 2 1 0o -1 -2 2
-2 0 2 -1 1 -2 0 2
CD=DC= .AB=BA=BC=CB=CD=DC=DA=AD
2 2 2 2 2 2 2 2
1 -1 2 0 -2 1 -1 2
0 1 2 -2 -1 0 1 2
-1 -2 2 1 0o -1 -2 2
-2 1 -1 2 0o -2 1 -1 2-2i —1+i 1-i —-2+2i 0 2-2i —1+i 1-i
-1 2 o -2 1 -1 2 0 1-i —2+2i 0 2-2i —1+i 1-i —2+2i 0
o -2 1 -1 2 0o -2 1 0 2-2i —1+i 1-i —-2+2i 0 2-2i —1+i
1 -1 2 o -2 1 -1 2 —1+i 1-i —-2+2i 0 2-2i —1+i 1-i —242i )
B-A=C= = _ _ _ . . S| (ei=2)
2 o -2 1 -1 2 0 -2 —2+2i 0 2-2i —1+i 1-i —-2+42i 0 2-2i
-2 1 -1 2 0o -2 1 -1 2-2i —1+i 1-i —-2+2i 0 2-2i —1+i 1-i
-1 2 o -2 1 -1 2 0 1-i —2+2i 0 2-2i —1+i 1-i —2+2i 0
o -2 1 -1 2 0 -2 1 0 2-2i —1+i 1-i —-242i 0 2-2i —1+i
2421 —1-i  1+i —2-2i 0 2421 —1-i  1+i 6 -3 3 -6 0 6 -3 3
1+i  —2-2i 0 2+2i  —1-i  1+i —2-2i 0 3 -6 0 6 -3 3 -6 0
0 2421 —1-i  1+i —2-2i 0 2+2i  —1-i 0 6 -3 3 -6 0 6 -3
& ~1-i 1+i -2-2i 0 2+2i  -1-i 1+i -2-2i| [-3 3 -6 0 6 -3 3 -6
T —2-2i 0 242 -1-i  1+i -2-2i 0 2+2i | |-6 0 6 -3 3 -6 0 6
2421 —1-i  1+i —2-2i 0 2421 —1-i  1+i 6 -3 3 -6 0 6 -3 3
1+i  —2-2i 0 2+2i  —1-i  1+i —2-2i 0 3 -6 0 6 -3 3 -6 0
0 2421 —1-i  1+i —2-2i 0 2+2i  —1-i 0 6 -3 3 -6 0 6 -3
1 2 -2 -1 0 1 2 =2
-2 -1 0 1 2 -2 -1 0
0 1 2 -2 -1 0 1 2
2 -2 -1 0 1 2 -2 -1 _
- =D , .~In(C)=C (-i=2)
-1 0 1 2 -2 -1 0 1
1 2 -2 -1 0 1 2 =2
-2 -1 0 1 2 -2 -1 0
0 1 2 -2 -1 0 1 2




Cosmology

Cosmology = my bigbang theory + complex Jogarithm

The multivalued imaginary part of a complex logarithmic function is drawn in such a way that the
branches can be recognized. As the complex number z goes around the origin, the imaginary part of
the logarithm goes up and down. This makes the origin the branching point of this function.
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